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1. Delermine the fesddont intermal dee ‘OOd\'”‘aS qc;hns on  +he

CFess- \ ccoss sechon gt C ofF +he
cantilevered” beam
gl 300 K fm e 2 oM
vc ‘ 7-2%\071\ <
4. iN ETT M J, 4 2
X Nc — —s ——p |
: : t -h-! . —p _%
SRS g 08m i lGim |
i e 2 —HZfy @ EMe - @D
-Ne + IN=@ \/c_;,zwo @@ < —ZHO{S.S) o (2}1) =@
Me = = |/ Ve- 2 il N NC’C‘D H.H W
Nez -Loo Y~ g 0% D (1Y M 7\

2. The S00 K4 engire s sespendeot From the crare boom . Determine
Yhe resciient interhal load(nss Qc*incj on the cross secdion
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Correct but add the resulting vector orientation. This is mandatory. Implied and indicated are two different things. 
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1kN applied in x and y. Review statics.
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Careful 1kN=1000N
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Correct magnitudes but unknown orientation. Note this.
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Here you multiplied by 1000 each force. Correct.
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5 Dotermine Yre resullond miecnel ‘c)q,d\ns.s achngy on fhe cross Sccfien
ot C of {ne beam.

300 /¢4

@ ! p
P.ﬁ[m /m g leoo | 7014
U 7 e 2F4) L,H_L?H‘
350 : T-‘_’ A 5
Ay
Fes
éMA =@
DIFD (2)4 Iooo(g) _FBD(‘W‘ 50») (1)=¢
Frg = - 2800
=5
Froc IS6oIs
MC
200 w7
8 Nsp fve 3
1560 |y,
cli= & & I‘}(-’@

Ne - 1560 (cos30=@ i |

MC:Jggf/ C+@(5m50>-;@ i
1350 \/C:G:LS[E_,A l
-——,-_’——74. L

ZM,

= :

Mc—nsso(sm?/ﬁ):@
Mc= 1350 |bF+
““*“—..2“/

B s :


NESTOR ESCOBALES
210660000000001952

NESTOR ESCOBALES
210660000000001952
Resulting vector orientation. Revise Vc.


